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Ansicht Süd-West

Ansicht Nord-Ost

Arstraße 61 Arstraße 63 Arstraße 65

Arstraße 63
Arstraße 61

Arstraße 65

+15.87 = 174.50 NN

+15.37 = 174.00 NN

+16.37 = 175.00 NN

-1.54 = 

157.09 NN
-1.38 = 

156.93 NN

+ 7.46 = 

166.09 NN
+ 7.06= 

165.69 NN

+4.26 = 

162.89 NN
+3.90 = 

162.53 NN

+1.26 = 

159.89 NN
+1.10 = 

159.73 NN
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+3.82 = 162.45 NN

+3.82 = 162.45 NN

- 0.76 = 157.87 NN

- 2.76 = 155.87 NN

-1.63 = 157.00 NN

+ 9.02 = 

167.65 NN
+ 8.64 = 

167.27 NN OKR

+ 5.875= 

164.51NN OKF
+ 5.52= 

164.15 NN OKR

+2.76 = 

161.39 NN OKF +2.60 = 

161.23 NN OKR

-0.17 = 

158.46NN OKF -0.33 = 

158.30 NN OKR

-3.09 = 

155.54 NN  OKF
- 3.19= 

155.44 NN OKR

-0.13 = 158.50 NN

+ 10.52 = 

169.15 NN
+ 10.14 = 

168.77 NN OKR

+ 7.03= 

165.66 NN OKR

+4.26 = 

162.89 NN OKF +4.10 = 

162.73 NN OKR

+1.33 = 

159.96NN OKF +1.17 = 

159.80 NN OKR

-1.59 = 

157.04 NN  OKF
- 1.69= 

156.94 NN OKR

+ 7.38= 

166.01NN OKF

+ 9.26 = 167.90 NN

Arstraße 61
Arstraße 63

Arstraße 67

+15.37 = 174.00 NN

+15.87 = 174.50 NN

+16.37 = 175.00 NN

+18.37 = 177.00 NN

Arstraße 65

+ 9.02 = 167.65 NN

+10.12 = 168.75NN

+7.46 = 166.09NN

+10.04 = 168.67NN


